THeFEE11AMEFRESFEI—%

(B FH)
o £ E % BIZHARENERE
BEvre Nt WETEZ
—f% | ( 34,583 )| ( 1,975 )| ( 1,975 )
59,345 3,950 3,950
EORNTREEEEICESLD
1 MITAEBE 1500 — 1,500 ( 0)
) 2 KEBMRARE KREE 7299 — 7,299 ( 0)
i BA| 3 FTHEMRAREXNREX 1022 - 1,022 ( 0)
4 ERBEBEEERESE 6,474 — 6,474 ( 0)
5 KEBRRFILHESE 8050 — 12,000 ( 3,950 )
6 7k%,%$§ab§§ﬂ:$¥ 35000 — 35,000 ( 0)
&t 59,345 — 63,295 ( 3,950 )
S 5 =1 P4 EILRERE AR LERE
BErve Nt WETEZE
—f& | ( 94,716 )| ( 1) ¢ 1)
167,494 A 399 A 399
EORNREETEICEDLD
1 RbULEIHEZE 89,337 — 89,337 ( 0)
Bl 2 HARMREEREEREE 78,157 — 717,758 ( A 399 )
£t 167,494 — 167,095 ( A 399 )
o 8 == P4 =2 X B i
BIEFHEZE HIERiEEE HIETEZE
( 1,510,864 )| ( 1,976 )| ( 1,976 )
5,681,695 3,551 3,551
B T X EG 5,681,695 — 5,685,246 ( 3,551 )
S B HE A —RAITEURE Bt
BIEFHEZE HIERiEEE HIETEZE
( 2,893,042 )| ( 1,976 )| ( 1,976 )
8,058,343 3,551 3,551
OB —RTBEE 5t 8,058,343 — 8,061,894 ( 3,551 )




THeFEE11AMEFRESFEI—%

(B FH)
S T HEAS EREHEEEE
BEvre faIE 7pam%E WETEZE
BE | ( 410,799 ) | ( 174,041 )| ( 174,041 )
5,473,840 A 4372 A 4372
EORNTEEEFICESLD
1 ERWRE 1,974000 — 1565500 ( A 408,500 )
2 ERERIEkE 321,000 — 332,575 ( 11,575 )
R BA| 3 BREE 2,063200 — 2,121,689 ( 58,489 )
4 TERE 547640 — 581,404 ( 33,764 )
5 KEMHRKR 425200 — 280,300 ( A 144,900 )
6 EiRHREE 142,800 — 168,000 ( 25,200 )
7 EE 0 - 420,000 ( 420,000 )
=t 5473840 — 5469468 ( A 4372 ) |
S T HE4% A EREESEE (GER)
BErve i IE 7R am 58 WETEZ
BE | ( 162,039 ) | ( 49,505 )| ( 49,505 )
2,610,187 977,952 977,952
E DR REBETEIZLDLD
1 EERSEE 1,549,687 — 2,689,899 ( 1,140,212 )
2 BREE 146500 — 149,510 ( 3,010 )
3 XBLE 397800 — 379,802 (A 17,998 )
% Bl 4 KEMHR 367,800 — 280928 ( A 86,872)
5 X 42,000 — 42,000 ( 0)
6 s 43600 — 0( A 43600)
7 ERRIRERIELE 62,800 — 46,000 ( A 16,800 )
=t 2610187 — 3588139 ( 977952 )
o $E T IE A
( BEvre - faIE 7haa%E WETEZE )
iR BA
o $E T IE A B K Et
BEve i IE 7R am 58 WETEZ
( 572,838 )| ( 223,546 )| ( 223,546 )
8,084,027 973,580 973,580
i BA| & B 3 8,084,027 — 9,057,607 ( 973,580 )




SHOEE11AMETEESIEN—E
(Bhi:FH)
S B T HEA A SEE
BEra WIEhaae WETEZE
BE | ( 108,541 )| ( A 9,450 )| ( A 9,450 )
1,973,341 A 177,050 A 177,050
EORTREETEIZLDED
1 LiEAIISEE 1,733,841 — 1590441 (A 143,400 )
o OB 2 REREBHKEXE 52900 — 31,900 (A 21,000 )
3 SAIAVT U REXE 186,600 — 173,950 (A 12,650 )
B 1973341 — 1,796,291 ( A 177,050 )
S T HEAL BEBEREE
BREFHE fHIEEEEE HIETEZE
BE | ( 68,502 )| ( A 4900 )| ( A 4,900 )
522,202 0 0
EORTREEEIZLDED
1 SERER 421,202 431,202 ( 10,000 )
W OB 2 BEAVTIUREE 101,000 — 91,000 (A 10,000 )
£t 522202 — 522,202 ( 0)
7 #8 £ H 4
BREFE fHIEEEEE HIETEZE
( ) )] ( )
i BA
| T IE £ AN E
BREFEHE fHIEEEEE HIETEZE
( 177,043 ) | ( A 14350 )| ( A 14,350 )
2,495,543 A 177,050 A 177,050
s OBA| A I E 2495543 — 2,318,493 (A 177,050 )




THeFEE11AMEFRESFEI—%

(B FH)
S B T HEA WHHBEREEXE
BEra faIE 7pam%E WETEZE
BE|( 177,978 )| ( 10,800 )| ( 10,800 )
2545118 A 89,128 A 89,128
EORNREEEEICESLD
1 BAERHEEE 1,760,254 — 1,490,029 ( A 270,225 )
OB 2 I RYKEER 59,850 — 43050 ( A 16,800 )
3 AlEFIHERIEXNEE 582514 — 722311 ( 139,797 )
4 BERBIEKEXEE 38500 — 38,100 ( A 400 )
5 WAV T IV REXE 104,000 — 162,500 ( 58,500 )
£t 2545118 — 2455990 ( A 89,128)
o $E T IE A
BEra faIE 7ham%E WETEZE
( )] ( ) ( )
iR B
o $E T IE A
BEra faIE 7haa%E WETEZE
( )] ( ) ( )
iR BA
o $E T IE A #® B &t
BEra faIE 7pam%E WETEZE
( 177,978 ) | ( 10,800 )| ( 10,800 )
2545118 A 89,128 A 89,128
OBl B B F 2545118 — 2455990 ( A 89,128 )




THeFEE11AMEFRESFEI—%

(B FH)
oS i =1 P4 BLEREE
BEvre FHIE I REE WETEZE
BE | ( 546,616 )| ( 110,050 )| ( 110,050 )
1,062,454 184,470 184,470
EORTREEEIZLDED
1 AEUUE 42550 — 42550 ( 0)
OBl 2 FHR%R 179,750 — 200,360 ( 20,610 )
3 Emk 559,690 — 622,450 ( 62,760 )
4 EEATFUR 280,464 — 381,564 ( 101,100 )
1062,454 — 1,246,924 ( 184,470 )
S T HEAL BEBFEREE
BREFHE fHIEEEEE HIETEZE
BE|( 77,950 )| ( A 19,150 )| ( A 19,150 )
571,757 A 216,717 A 216,717
EORTREEEIZLDED
1 SERER 478497 — 262,210 ( A 216,287 )
OBl 2 EMiexE 66,690 — 69,440 ( 2,750 )
3 MEXE 10,630 — 0 ( A10630)
4 SEfEREEIE 15940 — 23,390 ( 7,450 )
571,757 — 355040 ( A 216,717 )
7 #8 £ H 4
BREFE fHIEEEEE HIETEZE
( ) )] ( )
E
| £ H 4 B Z
BREFEHE fHIEEEEE HIETEZE
( 625,566 ) | ( 90,900 )| ( 90,900 )
1,645,011 A 32247 A 32247
OBAl & Z 3 1645011 — 1612764 (A 32,247)




SHOEE11AMETEESIEN—E
(Bhi:FH)
S T HE4% A EREESEE (HKR)
BEra WIEhaae WETEZE
BE | ( 8,850 )| ( 3,590 )| ( 3,590 )
238,900 104,000 104,000
EORTREEEIZLDED
ROBA| #IREE 238900 — 342,900 ( 104,000 )
S T HEAL A AEEEE
BREFHE fHIEEERE HETEZE
BE | ( 11,272 )| ( 7,157 )| ( 7,157 )
203,285 130,373 130,373
EORTREEEIZLDED
OB #SMELEEEE 203,285 — 333,658 ( 130,373 )
| £ H 4
( BREFE ) fHIEEEEE ( HETEZE :
iR BA
S i == P4 #hEtE &
BREFEHE fHIEEEEE HIETEZE
( 20,122 )| ( 10,747 )| ( 10,747 )
442,185 234,373 234,373
iROBA| #WEE 442185 — 676,558 ( 234,373 )




SHOEE11AMETEESIEN—E
(B FH)
S B T HEA BEEERRE
BEra faIE 7pam%E WETEZE
B’E | ( 6,761 )| ( A 946 )| ( A 946 )
501,135 A 80,485 A 80,485
EDRNREEEIZLDLD
OB BEEEAMNINEEEXEE 501,135 — 420,650 ( A 80,485 )
o $E £ 4
: BEra ) faIE 7ham%E + WETEZE )
R BA
o $E £ 4 T = &t
BEra faIE 7haa%E WETEZE
( 6,761 )| ( A 946 )| ( A 946 )
501,135 A 80,485 A 80,485
B & £ 3 501,135 — 420,650 ( A 80,485 )
| £ H 4 ) /N
BREFEHE fHIEEEEE fHIE T EZE
( 1,592,736 ) | ( 320,697 )| ( 320,697 )
16,046,045 829,043 829,043
i BA| wEBIAHE 3 16,046,045 — 16,875,088 ( 829,043 )

10




TH6FE11AMETHBESREN—E

=

=
(B FH)
S T HE4% AR TERERESESE
BEra TR hessa fHIE ¥ 258
BE | ( 765,125 )| ( A 14615 )] ( A 14615 )
5,914,747 A 511,048 A 511,048
EORTREEEIZLDED
WO 1 EREXEE 5,815,664 5,332,903 (A 482,761 )
2 HIREREE 99,083 70,796 (A 28287 )
B 5,914,747 5403699 ( A 511,048)
| £ H 4
BREFHE fHIE 1% %E HIETEZE
( )] ( )] ( )
i BA
7 #8 £ H 4
( BREFE ) fHIEEEEE , HIETEZE )
i BA
S i == P4 BEadg 5
BREFEHE fHIEEEEE HIETEZE
( 1,044,070 )| ( A 14615 )| ( A 14615 )
9,396,744 A 511,048 A 511,048
R BA| EBE¥MoH 9,396,744 8,885,696 ( A 511,048 )

11




THeFEE11AMEFRESFEI—%

(B FH)
S B T HEA BRI EEE
BEra FHIE I REE WETEZE
BE|( 215104 )| (A 140,000 )| (A 140,000 )
5,174,836 A 140,000 A 140,000
HHEEADRED®
1 BEiEFE 2294224 — 2294224 ( 0)
OB 2 EREHEE 1,032,242 — 1,032,242 ( 0)
3 BREE 447827 — 307,827 (A 140,000 )
4 ERMEEE 90,421 — 90,421 ( 0)
5 KERUEIEETEE 1,310,122  — 1,310,122 ( 0)
B 5174836 — 5,034,836 (A 140,000 )
S 5 =1 P4 HEEE Bt
BEra faIE 7pam%E WETEZE
( 282,454 )| ( A 140,000 )| ( A 140,000 )
7,238,416 A 140,000 A 140,000
OB MEBEE F 7,238,416 — 7,098,416 ( A 140,000 )
oS =1 P4 NHEXF B
BEra faIE 7haa%E WETEZ
( 3,713,909 )| ( 166,082 )| ( 166,082 )
37,365,012 177,995 177,995
OBl AHEESE S 37,365,012 — 37,543,007 ( 177,995 )
S T HE4% BREMEE &
BEra FHIE G REE WETEZE
( 4,717,930 )| ( 166,082 )| ( 166,082 )
51,442,201 177,995 177,995
R OB ®EMRE B 51,442,201 — 51,620,196 ( 177,995 )

12




SHOEE11AMETEESIEN—E
(B FH)
o #E T IE A
: BEra ) FHIE I REE ( WETEZE )
iR BA
o $E T IE A
( BEra ) faIE 7ham%E + WETEZE )
R BA
o $E T IE A
( BEra ) faIE 7haa%E + WETEZE )
iR BA
oS 5 =1 P4 — iR =ET Bt
BT v eEse FHIE G REE WETEZ
(12,816,256 )| ( 168,058 )| ( 168,058 )
64,829,592 181,546 181,546
iR BA —fR=E § 64,829,592 — 65,011,138 ( 181,546 )

13




SHOEE11AMETEESIEN—E
(Bhi:FH)
S T HE4% KDZEFDBEIEF AR ESEE
BEra faIE 7pam%E WETEZE
% 0 ) 0 )| 0)
101,859 A 2859 A 2,859
EORNREEEEICESLD
OB KIZEMOBEFIRRESESE 101,859 — 99,000 ( A 2,859 )
S 5 =1 P4 39 IIE B EREE RTINS &
BEra ) %ﬁIETﬁ,E%EEO : %ﬁm%ﬁ?ﬁo )
0
2,205,801 A 2859 A 2859
OB SoOmLEREEHEEXEREFNEET FH 2,205,801 — 2,202,942 ( A 2,859 )
o 48 = E % B¥AlEET &t
BEra faIE 7haa%E WETEZE
0) 0 )]( 0)
3,716,957 A 2859 A 2859
B =3 e e 3,716,957 — 3,714,098 ( A 2,859 )
o $E T IE A a it
BT v eEse faIE 7pam%E WETEZE
(12,816,256 )| ( 168,058 )| ( 168,058 )
68,546,549 178,687 178,687
i OBA| & & 68,546,549 — 68,725,236 ( 178,687 )

14




